

14 Unit Root

Consider estimating the AR(1) model:

$$y_t = \phi_1 y_{t-1} + \epsilon_t, \quad \epsilon_t \sim \text{i.i.d. } N(0, \sigma_\epsilon^2), \quad y_0 = 0, \quad t = 1, \dots, T$$

y_t is rewritten as:

$$\begin{aligned} y_t &= \phi_1 y_{t-1} + \epsilon_t \\ &= \phi_1 (\phi_1 y_{t-2} + \epsilon_{t-1}) + \epsilon_t = \phi_1^2 y_{t-2} + \epsilon_t + \phi_1 \epsilon_{t-1} \\ &\quad \vdots \\ &= \phi_1^n y_0 + \epsilon_t + \phi_1 \epsilon_{t-1} + \phi_1^2 \epsilon_{t-2} + \dots + \phi_1^{n-1} \epsilon_1 \end{aligned}$$

$$\phi_1^n y_0 \longrightarrow 0 \text{ as } n \longrightarrow \infty.$$

$$y_t = \epsilon_t + \phi_1 \epsilon_{t-1} + \phi_1^2 \epsilon_{t-2} + \dots$$

$$E(y_t) = E(\epsilon_t + \phi_1 \epsilon_{t-1} + \phi_1^2 \epsilon_{t-2} + \dots) = 0$$

$$\begin{aligned} V(y_t) &= V(\epsilon_t + \phi_1 \epsilon_{t-1} + \phi_1^2 \epsilon_{t-2} + \dots) \\ &= V(\epsilon_t) + \phi_1^2 V(\epsilon_{t-1}) + \phi_1^4 V(\epsilon_{t-2}) + \dots \\ &= \sigma_\epsilon^2 (1 + \phi_1^2 + \phi_1^4 + \dots) = \frac{\sigma_\epsilon^2}{1 - \phi_1^2} = \gamma(0) \end{aligned}$$

where $\gamma(\tau) = \text{Cov}(y_t, y_{t-\tau}) = E(y_t y_{t-\tau}) \longrightarrow$ **Autocovariance function**

● The Case of $|\phi_1| < 1$:

Then, OLSE of ϕ_1 is:

$$\hat{\phi}_1 = \frac{\sum_{t=1}^T y_{t-1} y_t}{\sum_{t=1}^T y_{t-1}^2}.$$

In the case of $|\phi_1| < 1$,

$$\hat{\phi}_1 = \phi_1 + \frac{\frac{1}{T} \sum_{t=1}^T y_{t-1} \epsilon_t}{\frac{1}{T} \sum_{t=1}^T y_{t-1}^2} \longrightarrow \phi_1 + \frac{E(y_{t-1} \epsilon_t)}{E(y_{t-1}^2)} = \phi_1.$$

Note as follows:

$$\frac{1}{T} \sum_{t=1}^T y_{t-1} \epsilon_t \longrightarrow E(y_{t-1} \epsilon_t) = 0.$$

By the central limit theorem,

$$\frac{\overline{y\epsilon} - E(\overline{y\epsilon})}{\sqrt{V(\overline{y\epsilon})}} \longrightarrow N(0, 1)$$

where

$$\overline{y\epsilon} = \frac{1}{T} \sum_{t=1}^T y_{t-1} \epsilon_t.$$

$$E(\overline{y\epsilon}) = 0,$$

$$\begin{aligned} V(\overline{y\epsilon}) &= V\left(\frac{1}{T} \sum_{t=1}^T y_{t-1} \epsilon_t\right) = E\left(\left(\frac{1}{T} \sum_{t=1}^T y_{t-1} \epsilon_t\right)^2\right) \\ &= \frac{1}{T^2} E\left(\sum_{t=1}^T \sum_{s=1}^T y_{t-1} y_{s-1} \epsilon_t \epsilon_s\right) = \frac{1}{T^2} E\left(\sum_{t=1}^T y_{t-1}^2 \epsilon_t^2\right) = \frac{1}{T} \sigma^2 \gamma(0). \end{aligned}$$

Therefore,

$$\frac{\overline{y\epsilon}}{\sqrt{\sigma^2 \gamma(0)/T}} = \frac{1}{\sigma_\epsilon \sqrt{\gamma(0)}} \frac{1}{\sqrt{T}} \sum_{t=1}^T y_{t-1} \epsilon_t \longrightarrow N(0, 1),$$

which is rewritten as:

$$\frac{1}{\sqrt{T}} \sum_{t=1}^T y_{t-1} \epsilon_t \longrightarrow N(0, \sigma_\epsilon^2 \gamma(0)).$$

Using $\frac{1}{T} \sum_{t=1}^T y_{t-1}^2 \rightarrow E(y_{t-1}^2) = \gamma(0)$, we have the following asymptotic distribution:

$$\sqrt{T}(\hat{\phi}_1 - \phi_1) = \frac{\frac{1}{\sqrt{T}} \sum_{t=1}^T y_{t-1} \epsilon_t}{\frac{1}{T} \sum_{t=1}^T y_{t-1}^2} \rightarrow N\left(0, \frac{\sigma_\epsilon^2}{\gamma(0)}\right) = N(0, 1 - \phi_1^2).$$

Note that $\gamma(0) = \frac{\sigma_\epsilon^2}{1 - \phi_1^2}$.

In the case of $\phi_1 = 1$, as expected, we have:

$$\sqrt{T}(\hat{\phi}_1 - 1) \rightarrow 0.$$

That is, $\hat{\phi}_1$ has the distribution which converges in probability to $\phi_1 = 1$ (i.e., degenerated distribution).

Is this true?

● **The Case of $\phi_1 = 1$: $\implies$ Random Walk Process**

$y_t = y_{t-1} + \epsilon_t$ with $y_0 = 0$ is written as:

$$y_t = \epsilon_t + \epsilon_{t-1} + \epsilon_{t-2} + \cdots + \epsilon_1.$$

Therefore, we can obtain:

$$y_t \sim N(0, \sigma_\epsilon^2 t).$$

The variance of y_t depends on time t . $\implies y_t$ is nonstationary.

Remember that $\hat{\phi}_1 = \phi_1 + \frac{\sum y_{t-1}\epsilon_t}{\sum y_{t-1}^2}$.

1. First, consider the numerator $\sum y_{t-1}\epsilon_t$.

$$\text{We have } y_t^2 = (y_{t-1} + \epsilon_t)^2 = y_{t-1}^2 + 2y_{t-1}\epsilon_t + \epsilon_t^2.$$

Therefore, we obtain:

$$y_{t-1}\epsilon_t = \frac{1}{2}(y_t^2 - y_{t-1}^2 - \epsilon_t^2).$$

Taking into account $y_0 = 0$, we have:

$$\sum_{t=1}^T y_{t-1} \epsilon_t = \frac{1}{2} y_T^2 - \frac{1}{2} \sum_{t=1}^T \epsilon_t^2.$$

Divided by $\sigma_\epsilon^2 T$ on both sides, we have the following:

$$\frac{1}{\sigma_\epsilon^2 T} \sum_{t=1}^T y_{t-1} \epsilon_t = \frac{1}{2} \left(\frac{y_T}{\sigma_\epsilon \sqrt{T}} \right)^2 - \frac{1}{2\sigma_\epsilon^2} \frac{1}{T} \sum_{t=1}^T \epsilon_t^2.$$

From $y_t \sim N(0, \sigma_\epsilon^2 t)$, we obtain the following result:

$$\left(\frac{y_T}{\sigma_\epsilon \sqrt{T}} \right)^2 \sim \chi^2(1).$$

Moreover, the second term is derived from:

$$\frac{1}{T} \sum_{t=1}^T \epsilon_t^2 \rightarrow \sigma_\epsilon^2.$$

Therefore,

$$\frac{1}{\sigma_\epsilon^2 T} \sum_{t=1}^T y_{t-1} \epsilon_t = \frac{1}{2} \left(\frac{y_T}{\sigma \sqrt{T}} \right)^2 - \frac{1}{2\sigma_\epsilon^2} \frac{1}{T} \sum_{t=1}^T \epsilon_t^2 \longrightarrow \frac{1}{2} (\chi^2(1) - 1).$$

Next, consider $\sum y_{t-1}^2$.

$$\mathbb{E} \left(\sum_{t=1}^T y_{t-1}^2 \right) = \sum_{t=1}^T \mathbb{E}(y_{t-1}^2) = \sum_{t=1}^T \sigma_\epsilon^2 (t-1) = \sigma_\epsilon^2 \frac{T(T-1)}{2}.$$

Thus, we obtain the following result:

$$\frac{1}{T^2} \mathbb{E} \left(\sum_{t=1}^T y_{t-1}^2 \right) \longrightarrow \text{a fixed value.}$$

Therefore,

$$\frac{1}{T^2} \sum_{t=1}^T y_{t-1}^2 \longrightarrow \text{a distribution.}$$

Summarizing the results up to now, $T(\hat{\phi}_1 - \phi_1)$, not $\sqrt{T}(\hat{\phi}_1 - \phi_1)$, has limiting distribution in the case of $\phi_1 = 1$.

$$T(\hat{\phi}_1 - \phi_1) = \frac{(1/T) \sum y_{t-1} \epsilon_t}{(1/T^2) \sum y_{t-1}^2} \longrightarrow \text{a distribution.}$$

$$y_t = \phi_1 y_{t-1} + \epsilon_t.$$

Test $H_0 : \phi_1 = 1$ against $H_1 : \phi_1 < 1$.

Equivalently,

$$\Delta y_t = \rho y_{t-1} + \epsilon_t.$$

Test $H_0 : \rho = 0$ against $H_1 : \rho < 0$.

***t* Distribution**

<i>T</i>	0.010	0.025	0.050	0.100	0.900	0.950	0.975	0.990
25	-2.49	-2.06	-1.71	-1.32	1.32	1.71	2.06	2.49
50	-2.40	-2.01	-1.68	-1.30	1.30	1.68	2.01	2.40
100	-2.36	-1.98	-1.66	-1.29	1.29	1.66	1.98	2.36
250	-2.34	-1.97	-1.65	-1.28	1.28	1.65	1.97	2.34
500	-2.33	-1.96	-1.65	-1.28	1.28	1.65	1.96	2.33
∞	-2.33	-1.96	-1.64	-1.28	1.28	1.64	1.96	2.33

$$(a) H_0 : y_t = y_{t-1} + \epsilon_t$$

$$H_1 : y_t = \phi_1 y_{t-1} + \epsilon_t \text{ for } \phi_1 < 1$$

T	0.010	0.025	0.050	0.100	0.900	0.950	0.975	0.990
25	-2.66	-2.26	-1.95	-1.60	0.92	1.33	1.70	2.16
50	-2.62	-2.25	-1.95	-1.61	0.91	1.31	1.66	2.08
100	-2.60	-2.24	-1.95	-1.61	0.90	1.29	1.64	2.03
250	-2.58	-2.23	-1.95	-1.62	0.89	1.29	1.63	2.01
500	-2.58	-2.23	-1.95	-1.62	0.89	1.28	1.62	2.00
∞	-2.58	-2.23	-1.95	-1.62	0.89	1.28	1.62	2.00

To test $H_0 : \rho = 0$ against $H_1 : \rho < 0$, estimate $\Delta y_t = \rho y_{t-1} + \epsilon_t$ and compare the t -value of ρ with the above table.

The Other Topics

- Discrete Dependent Variable (離散従属変数), and Limited Dependent Variable (制限従属変数)
- Panel Data (パネル・データ)
- Causal Inference (因果推論)
- Generalized Method of Moments (一般化積率法, GMM)
- Time Series Analysis, including unit root test and cointegration test (時系列分析, 単位根検定, 共和分検定)
- Bayesian Estimation (ベイズ推定)
- Semiparametric and Nonparametric Regressions and Tests (セミパラメトリック, ノンパラメトリック推定・検定)
- System of Equations (Seemingly Unrelated Regression (SUR), Simultaneous Equation (連立方程式), and etc.) → Too old!!
- ...